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B LRREB Ris—Ex
Bx b ERE ERERUS
H £+ EH 147 247 3{7 4fr 5% 6 i 7hL 81
e 7/17 100m  |#H (1) 12.19 | KRee() 12.55 |5 (1) 12. 58 |{kjik SR (1) 12.64 (B85 Pk (1) 12.83 XA i (1) 12.86 [f)1] HIK (1) 12.99 |Hil TR (1) 12.99
AR -0.6 |HUKR —0.6 |RXHT -0.6 | KR -0.6 ¥ -0.6 | KA 0.6 |Ff -0.6 |1 -0.6
PEET/17) 1500m |gK fEE(L) 4:30.57 |45 A1) 4:33.41 (2R Jik(1) 4:37.43 /hH B (1) 4:39.22 | B (1) 4:39.27 |ZEE (D) 4:39.85 |EAK A (1) 4:42.25 |E5HE K1) 4:43.96
Ll e R = [ 4t Ak EH i BF 7Y
A 7/17) 100mH A B2 16.37 | HPE(D 16. 84 |Z<i H & AL (1) 17.26 [ R BEl (1) 17.55 &4 OEQ0) 18.14 |58 Wi (1) 18.18 | T# 3} (1) 18.30 | & H Ak (D) 18.76
(0. 762m) TN -1.3 |FEifi -1.3 |1E% -1.3 |iER -1.3 | Al -1.3 W -1.3 | -1.3 KR -1.3
12 7/18 (B T-H A, (1) 10m48 [#AR (1) 10m47 |/KE FHER(1) 10m03 % 7% (1) Im78 |k Ha. (1) 9m69 | il 5 (1) 9m51 | Fapok Bk (1) Iml9 [\t ARl (1) 8m93
(2.72kg)  |de b TR A PG S iR SR — WE
e 7/17 100m |EfZ  HER(2) 11.51 |[fA3E R (2) 11.97 |t Hath(2) 12.17 %5 &34(2) 12. 19 [fEE It (2) 12.22 BTG5 HEOK(2) 12.38 |lLfe K (2) 12.43 % P (2) 12.44
& Iy -0.8 | F/hg 0.8 |[E5R —0.8 |HKR -0.8 | L¥F -0.8 |JkfE -0.8 |[HER -0.8 |EH -0.8
e 7/17 100m |l (3) 11.67 % 55340Q) 11.82 [ #(3) 11.85 |#H a5 (3) 11.88 [#ibk  HEE(3) 11.97 |FEH I (3) 11.99 |[#iA  f#EE(3) 12.21 | T3 Z3K0) 12. 26
IS +0.2 | FLAlFE +0. 2 | R[] +0.2 |IAF L +0.2 | +0.2 | +0.2 |HEAN +0.2 R +0.2
FR2247/17) 1500m  |fex Ak 8(3)  4:03.13 |30 #—G)  4:07.09 |[pkH HEZ2/G)  4:09.21 | Kig Q) 4:16.82 /NEL PREB(2)  4:18.18 |&¥F IE#H(3)  4:18.57 £k H(2)  4:19.44 |HH SHE(2) 4:20.58
S 30] 7 NGR | fi] NGR |97 NGRIR N it Bf (1L El Exd
FEE 7/17 200m B EIE®) 23.54 [#liH P (3) 24. 11 |{Fk R (3) 24. 44 (i HE3) 24. 50 [k 5 (3) 24.56 "B EHEO) 24,64 el FRE®3) 24.84 [BEF W (3) 25.01
SR -0.7 |Fg#PH -0.7 | —FAKtE -0.7 | KE -0.7 |R.AiFE -0.7 |AKiRFE -0.7 |A%& 0.7 |Fh -0.7
HEAT/1T 400m |KJII HEZG3) 51.66 |ElE e (3) 52.36 | = BEK(3) 52.53 [y K@) 52.83 [fEfE  HH(3) 53.68 |fex Ak B (2) 54.00 [FH{RJE FEEE(3) 54.04 |&2% UK (3) 54. 44
81 R/ KE db ARR TR EEPA fRE
R T/17 800m |AB WG 2:01.68 |fEx ok #E(B)  2:04.09 MR AEAKEG)  2:05.23 [[LEE ALAG)  2:05.66 [J2H SHL(3)  2:06.32 |4 JCHE(3)  2:07.95 | fRfh(2)  2:09.15 | R PR (3)  2:10.43
[infi} KR R s — R KR R BEA
FEAT/18) 300 0m [ JEIEQ) 9:20.89 [/NBFE BE(3)  9:24.92 55 MR (3) 9:29.09 [ KF JEE(B)  9:31.68 [ZH B (3)  9:33.66 | K s (3)  9:34.65 |EEE KA (3)  9:37.22 [EKE  ME(3) 9:37.56
-BAR R SN TR L)1 dl HIE K J )1
FEAT/17) 11 0mH (45 BRI (3) 14.98 |feiE - HEAQ) 15. 45 %A B3 (3) 16. 13 i BB (3) 16. 23 | &[] W9 (3) 16. 46 & ftth, (3) 16. 60 | Tk [E3L(3) 16. 71 |453h ik (3) 17. 06
(0. 914m) KR —0.4 7KK -0.4 B KME 0.4 | 0.4 | F/NE 0.4 | KH -0.4 |RAlirg -0.4 |®E 0.4
1 7/16 Ak i 5 (3) Im85 |fefif sk (2) 1m70 ek BEOR(3) Im70 [BEAS YK (3) Im70 [& R ) 1m65
e i Y] P SR RN F(23 FH P S
FTER A (3) M Tk (3)
Key TN
ey HAr (3) il fith (2)
8T JEF )11
NEE - Wi (3) HE WK (3)
LAk ¥
A T/17 Wbk sem B O) 3m20 |EfkE AR (3) 3m00 [#E%  FB5(3) 2m70 |FlGE FR (1) 2m60 |fEx AR FEAN(3) 2mb0 | ek B (3) 2m50 |[EINE « TRRARHE (2) 2m50 | B I (2) 2m40
IR TR Ei] Itk K R EF A SLA AW
A 7/17 A Epk ek kEE(3) 6md0 [fHEF  F5E(3) 6m15 | T4 Sk (3) 6mi5 il AHEE(B) 6m06 | = HEHFEQR) 5m97 | JRJE(3) 5m95 AR 2 () 5m84 |ffEk  ELRE(3) 5m77
FH B +1.1 |EII +0.0 KR +0.2 | FLAE +1.1 SR 42,1 | B +0.4 |4 +1.5 |WERE +1.8
1 7/16 fil AL )t = N )] 12m89 |ETIEF  WIEA (3) 11m91 | = [ HbERAHE (2) 11md4 [T3E  EREE(3) 1mll (2R #1%(3) 10m39 |#EM BIL(3) 10mo05 [ki® K1 (3) 99 | ek FR(3) 9m80
(5. 000kg)  |H#E— SRR KN T HFUKIR TR AL A
A 7/16] ARG (R T (3) 2227 [JinjE 3 (3) 2156 |k HEET(3) 2054 | H F(2) 1989 | ik i (3) 1887 |k K (2) 1832 | KK Ak (3) 1766 [FIAR  5Eh (3) 1703
/17 KIRFE e FH 7S TR T B TEAR TN UG Lt PN 2
110mH-fied AL %78 i BE-400m |15, 40/-0. 4-8m42-1m68-57. 39 15.97/-0. 2-8m65-1m60-56. 21 16.90/-1. 0-9m45-1m55-56. 50 16. 88/-0. 2-8m57-1m60-57. 89 18. 05/-1. 0-10m54-1m40-56. 69 17.19/-0. 2-Tm28-1m55-58. 18 18. 44/-0. 4-9m00-1m50-58. 44 19.21/-1. 0-10m01-1m50-59. 99
e 7/18] 4 X1 00m | F/NEK- 47.96 [HEIR - 48.84 | A4+ 48.96 |17~ 49. 46 [4XHT - 49. 48 [HKIR - 49.53 | K= - 49. 55 [/KiR - 49.83
HF KB (1) K EC (D) & BRQ AL AR (D) TiE W) 1834 (2) I Ht (1) AW EE0
M3 BRKR©@) hE K@) £33 H# (2) e P (2) I S (1) #®mE K@) FES N YN INEFRE K (2)
e B2 (1) Per K {ER(2) ANEEJ JEGE (1) ERiE s 2) epg A (2) wn 8FEQ) (B (1) HHO Rk)
ek K@) ik EEQ) [, N (7 N ) EHH O EEQ) R KE(2) R BkHb (2) IR AR (2) g )
FeE7/18) 4X100m [ K- 45.00 [ 8- 45. 19 | LA - 45.39 |k k- 46. 18 [JLE9T-- 46. 31 WY - 46. 35 | RE[AT R - 46. 52
Fetsi i (3) B BB (2) E R i )] SEl Eisk(3) Bl HEZ2 A (3) ARy () HH O K Q)
FE R ANE TEIE(3) EifE BEQ) AR <5 N ) TEHE BER@3) EmE HEOE) PR #(3)
s i (3) P WEG) g FBEFO) el MR (3) T KR (3) JA RER @) & H #(2)
= v N ) Vefg  HE() TiE  EiLB) i)l L (3) BER B 3) . 16 exk  HE)
(\(,3\\ . Al FF\
B2 -341500m FEIM fiak  RO) EMITE 34538609 i Lo EE“B - il
O K A ES F
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fE LB Ris—Ex
TF b ERE ERERUS
ERR) A 147 2L 3L 4fr 547 6 i 7hL 81
54 7/18 100m |#&HAH *H 1 12.92 |4 AR (1) 13.61 | & H RE(D 13.71 |G 220 A (1) 14.07 |[FE « k&% ARAEE 1407 [H L JEHT (1) 14. 12 |FkG BERE(L) 14. 16 |4LH HhZ= (1) 14. 22
Bl -0. 1 NGR|S 75 -0. 1 [ K& -0.1 |4k k- -0.1 |%— -0.1 |4 iR} -0.1 | 0.1 | F/hig -0.1
FEAT/18) 1500m Bk wAZ() 45457 [BUR RESE(D 5:07.75 (Ml (XA 5:16.34 [@iE FEC() 5:20.23 |FFEE O BAA (D) 5:20.38 |EHH () 5:20.76 | K iz () 5:24.19 /NE oD Z (1) 5:24.32
Sl SR EH i 111 3 L8 T TN R Ly
A 7/18) 1 00mH  |[PHE S LEQ) 17.49 [ A&H(1) 17.84 [JIl%  #H (1) 18.09 [#JE U2 (1) 18.23 D — (1) 18.35 |7 H A (1) 18.39 |7EiE  mAR(D) 18.87
(0. 762m) = +3.9 |[fE% +3.9 |k kFg +3.9 |RAmy +3.9 | F/hig +3.9 |FLAIEE +3.9 |dkpE +3.9
A 7/17 et AN FIEY (1) m25 [H L B 8m20 [FH  FaF& (1) w89 [#IEF KA (1) w72 |FH AL m70 | 1 (1) w34 (fex A 3R (1) Tm33 |k w1 Tml0
(2. 72kg) | KJR iR ba] A1 & It - 7 Tl
12 7/18 100m | KK HE(©2) 12. 78 |Fafh HE§(2) 1312 (K A @) 13.20 [FIhr  Blx & (2) 13.24 |Gt "E(2) 13.26 |#%  HiE(2) 13.33 |[fHES (&R (Q) 13.41 [JIAT 34 Q) 13.43
SRl +2.9 [WERM +2.9 | K +2.9 bk +2.9 |/l +2.9 |dbpg +2.9 |EW +2.9 |[HEA +2.9
54 7/18 100m |REH #HHE®) 12.52 |fEx A& it (3) 12.52 @il Bk (3) 12.66 [F5H OEb (3) 12.75 |5 H FHHEE) 12.86 [fex A HiHk(3) 13.23 [HA 2575 (3) 13.23 | &I "2 (3) 13.28
AR +2.8 |Jbpz +2.8 |TiR +2.8 |IL9F +2.8 | KHHE +2.8 |KIRFE +2.8 |l +2.8 | KindE— +2.8
12 7/18 200m |[fEx Kk EH@©B) 25.79 {iewk 5 (3) 26.11 [ I % (3) 26.28 | HEIE(3) 26.42 |FEfE HZ3(3) 26.51 [F &< 5 (1) 26.96 |/NHIAR HEERE (3) 26.96 |HifE  BiXE(2) 27.18
[ER +1.2 B +1.2 |FA +1.2 | Rl +1.2 |46k +1.2 |[HL +1.2 |FER +1.2 | -8 +1.2
A T/18 800m |FFAE  #E@B)  2:18.39 2’53714 Fif/5(3)  2:19.66 451t Z(2)  2:23.18 |’ RAE(2)  2:25.16 | FH(3) 2:25.82 |EfE MIR©Q 0 2:26.47 | LR BP0 2:27.27 |HA BEE Q) 2:20.71
JE#)1 AL g EH R T TR /NG 473
FreEg7/18) 150 0m  |#7  HAM(3)  4:44.98 B EZs1-(2)  4:52.01 |G WAL(3)  4:52.66 [#nK  EFJ5(2)  4:53.10 [KEF #AR(2)  4:55.92 | H A (2)  4:58.34 &L W (2  5:02.65 | &I (3)  5:03.37
i TR B i £ 2aw 4773 i 5 N
Frepd7/18) 10 0mH  [\ERE H1-(3) 14.79 |BH HIR(2) 15.01 [4hih FHx(3) 15.19 |HE %4 (2) 15.20 | Fx7(3) 15.29 | =% EHEQ) 15.47 JEK  #HE(©2) 15.66 | &)1 ik (3) 16. 20
(0. 762m) L8 7 +3.8 b k@ +3.8 | M +3.8 | TG +3.8 |tk +3.8 |R& [ +3.8 |H KB +3.8 KR +3. 8
A T/18 Ak JNERE B ©2) 1mb4 |k L (2) Im51 |FEN AL (3) 1m48 | EA e (3) Im45 |k A (3) 1m45 | TH FRIE (3) 1m40 ([FJIE : R BT Im40 |[FIE : T4 B 1m40
bk Eoti] TN )11 Bl iR XE ER
e 7/18 E e R 0) 5mb4 [Fn A (2) 5m25 | BJIl - BE(3) 4m98 [RKH L (2) 4m94 [/ A (3) 4m93 [+30F B (2) 4m80 /M1 SHEFE(3) 4m79 |/hNBH LA (3) 4m76
JEf )1 +1.1 [ +2.8 | RLAl +3.6 | K +4.2 |HEIR +2.6 [JLEYT- +1.6 [/KIR +1.3 |4x o IR +1.0
el 7/17 (OB K'S KA #£(2) 1m61 [ffs 2545 (3) 10m80 [fb1  EA(3) 10m32 |Hiks AR 3) 10mO1 | A% BEHR-F- (3) 10m00 |4 H e (3) ms3 /N 3R (2) Im59 [k T (2) 9m59
(2. 721kg) N I AR & o IR} KES Ta KI5 EXY
P T/1T| DRSS (R REOQ) 2309 |fefE AKEI(3) 2037 [fex AR A (3) 1888 |fex AR B3 (3) 1886 [k ERAI(3) 1876 |/ SR (3) 1850 |&JII - Z&% (3) 1773 |gv K LS (3) 1719
7/18 Jif 1| KR I3 IR ik i KR E[S
100mH- 72 & Bk -Fu AL P -200m |16, 43/-0. 3-1md7-Tm90-27. 56/+1. 7 17.20/-0. 4-1m25-8m19-27. 24/+1. 7 17.92/-0. 5-1m30-7m91-28. 55/+1. 7 17.19/-0. 6-1m25-Tm11-28. 27/+1. 7 17. 24/-0. 5-1m30-9m09-30. 81/+1. 7 18.63/-0. 6-1m25-10m13-29. 35/+1. 7 17.23/-0. 5-1m20-6m79-28. 82/+1. 7 17.49/-0. 3-1m20-6m80-29. 15/+1. 7
F#7/16] 4x100m [dbL- 53.37 |t k- 53.57 [+ 53.75 | N/ - 54.78 | L1F- 55.27 |Hi- 55. 77
il A= (1) Ve Fn(1) miE Q) g kAR (2) %iE EEQ) RE o XA
K o A Q) B 5 AW (2) W PEH(2) JRHE o REA(Q2) [l Mk (2) mifs W@
JVERE M (2) JIsE #EA (1) R EER(2) W —i#EQ) = ERQ BH o EZHQ)
AR ERL(Q) wIE AR (2) mAE HRQ) K BT 1) VelE Q@) b i)
FEAT/16] 4X 10 0m |[fkAe: 49. 67 |dbkE- 49. 78 | FLAIRE - 50. 24 |Jgf)Il- 50. 74 |TEIRFE - 51.72 | kM- 52.58 |1t k- 52.59 |f# IR - 52. 64
RAEBH A5 R) NGR| #iiE i (2) fifk LY (3) ]| %75 (3) JUE A6#i(3) R LEL(2) i EREE) AN A (3)
[ N {¢)] Per R HE@) EE HEE() e ZREG) [SIFEY Dﬁ(z) Shl EHB) s BxF(2) EiE AR (3)
& FREG) i Xx 17 0) wH @) FEE MEO) R #@3) S SRML(3) Mg #EA (2) Y K (2)
JUR ZFEAE () A £H 1) KigK  HrE(2) fE R B) KEF (/WE(B) [EF N k(A ek BIx(3) JEE FE )
i % forT 418 253 F
I
# K e S S Fl
= 3 = TR
FLEREAT 1 il STHR F
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